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What number comes next?
1, 2, __________




9, 10, _________

4, 5, __________




5, 6, __________
10, 11, 12, _________



9, 10, 11, __________

    
Name: _________________


Class: _______________
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Kate, Stu and Barbara each has a different coin.  One has a penny, one has a nickel and one has a dime.  Kate does not have the penny or the nickel.  Stu does not have the penny.  What coin does Stu have?


  
Name: __________________

 

Class: ___________
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 a * b = a – b + a –b.  For example:  6 * 4 = 6 – 4 + 6 – 4 = 2 + 2 = 4.  How much larger is 12 * 3 than 10 * 5?

Grades 1-2:

Stu has the nickel.

Since Kate does not have the penny nor the nickel, she must have the dime.  Stu does not have the penny, and since Kate has the dime, Stu must have the nickel.

Grades 3-5:

8

12 – 3 + 12 – 3 = 9 + 9 = 18

10 – 5 + 10 – 5 = 5 + 5 = 10

18 – 10 = 8

